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Subtraktion (vertikal) Name:
L 6se jede Aufgabe. Antworten
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Subtraktion (vertikal) Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
N 42
1) 5.644 2 53 3 912 4 98
-5.602 - 20 - 286 =27 ” 33
42 33 626 71
3 626
4. /1
5 6.265 6) 9.521 7 8.267 8 3.454 > 6.053
. 212 - 8.445 _ 870 - 23 . 1076
6.053 1.076 7.397 3.431
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8. 3.431
9 558 100 592 1) 4.769 12) 825 0, 536
- 22 -2 -1.423 - 65 . 590
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Subtraktion (vertikal) Name:
L 6se jede Aufgabe. Antworten
33 7.397 3.346 42 1.076
760 536 626 3.431 590 1.
71 6.053
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1) 5.644 2) 53 3 912 3
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- - - 4.
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